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The genetic material that we inherit from parents is (a) RNA; (b) EDA; (c) DNA; (d) DHA.
DNA consists of two polynucleotide strands called (a) proteins; (b) double helix; (c) twins; (d) lipids.

Which of the following organelles is not found in an animal cell? (a) plasma membrane; (b)
lysosome; (c) chloroplast; (d) mitochondrion.

Which of the following organelles is the cell’s genetic control center? (a) nucleus; (b) cytoskeleton;
(c) golgi apparatus; (d) ribosome.

Which of the following organisms can regenerate its intestine? (a) sea cucumber; (b) lizard; (c) sea
anemone; (d) sea seal.

The reproductive process that involves the union of a sperm and an egg is called (a) cell division; (b)
sexual reproduction; (c) regeneration; (d) asexual reproduction.

Starch is a polymer of (a) lipid; (b) fructose; (c) amino acids; (d) glucose.

Which term in the following can be defined as “all of the individuals of particular species living in an
area” (a) ecosystem; (b) population; (¢) community; (d) organism.

What kind of molecules in the following is the major component in plasma membrane? (a)
phospholipids; (b) carbohydrate; (c) triacylglycerol; (d) cholesterol.

10. The process to engulf particles into cells is called (a) endocytosis; (b) endosymbiosis; (c) exocytosis;

(d) endomembrane.
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